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Note : (i)  Question No. 1 is compulsory. 

 (ii)  Attempt any five questions from Q. No. 2 

to 8. 

1. (a) Do as directed : 2 each 

(i) Name the product and enzyme 

catalyzing the following reaction : 

2 2H O+ CO    

(ii) Name two multienzyme complexes. 

(iii) Name two binding methods of enzyme 

immobilization. 

(iv) Name two proteolytic enzymes. 
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(v) Name two models of enzyme  

catalysis. 

(vi) Write down Michaelis-Menten 

equation. 

(b) Differentiate between the following :  

2
1

2
×2=5 

(i) Reversible and Irreversible enzyme 

inhibition 

(ii) Apoenzyme and Holoenzyme 

(c) Define the following in 1-2 lines : 1×3=3 

(i) Activation energy 

(ii) Oxidoreductases 

(iii) Prosthetic group 

2. Describe the role of the following coenzymes :  

2×5=10 

(i) NAD (Nicotinamide Adenine Dinucleotide) 

(ii) Pyridoxal phosphate (PLP) 

3. (a) What is Lineweaver Burk plot ? Derive 

Lineweaver Burk equation from Michaelis-

Menten equation. 6 

(b) Explain the significance of Km and Vmax. 4 

4. (a) Explain the effects of metal ions on enzyme 

activity. 5 
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(b) Explain the following : 2
1

2
×2=5 

(i) Ping-Pong Bi Bi reactions 

(ii) Substrate inhibition 

5. Write short notes on the following : 5+5 

(i) Covalent catalysis 

(ii) Proximity and orientation mechanism of 

enzyme catalysis 

6. What is Feedback Regulation ? Explain its 

different types. 10 

7. Define immobilized enzymes and describe their 

properties. Name two entrapment methods of 

enzyme immobilization. 2+6+2 

8. (a) Enlist application of enzymes in industry. 

Explain their uses in food industry. 2+4 

(b) What are multienzyme complexes ? Give 

their properties and advantages. 4 
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(i) 

(ii) 

(i)

2 2H O+ CO   

 (ii)

 (iii)
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 (iv)

 (v)

 (vi)

2
1

2
×2=5 

(i)

 (ii)

1×3=3 

   (i)

   (ii)  

   (iii)  

2×5=10 

(i) NAD

(ii) (PLP) 

é

mK maxV

4 
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